A B c D £ ‘ F

REVISIONS
318 [8.08] FOOTPRINT
STANDARD PCB LAYOUT REV ECN, ERN NO. DATE | APPRD.
( ) B | PRODUCT DRAWING (EAR 12937) | APR28,/06| K.L.
A
c | 242 [6.15]
B
i % DIMENSIONS
& (00050
: ©0© Q) (& 311 494£.015 _ 126+.020 SIZE | A+.015 [0.38]| B£.005 [0.13] | C+.005 [0.13]| D BSC.
i ® /@©// [7.90] [12.55+0.38] 32040.51]
— 009 | 1.213 [30.81] | .643 [16.33] | .984 [24.99] | .432 [10.97]
| |
U‘U il Wum U‘ [ 015 | 1.541 [39.14] | .971 [24.66] 1.312 [33.32] | .756 [19.20]
5 025 | 2.088 [53.04] | 1.511 [38.38] | 1.852 [47.04] | 1.304 [33.12]
PCB_MTG OPTION C
BOARBLOCRS. 318 037 | 2.729 [69.32] | 2.159 [54.84] | 2.500 [63.50] | 1.956 [49.68]
[8.08] FOOTPRINT
PANEL MTG OPTIONS 0 OR 1
120 [3.05] DIA. OR #4—40
THROUGH HOLES (2 PLACES),
SEE ORDERING CODE.
EAMEL_WMIG CPTICN 2 PCB _MTG OPTION A PCB_MTG OPTIONS D OR J
#4—40 UNC THREADED HEX #.120 [3.05] MTG HOLE $.120 [3.05] MTG HOLE OR
JACK SOCKET WITH WRAP—AROUND #4-40 THREADED MTG HOLE
187 [4.75] (2 INSTALLED) GROUND STRAP, 318 [8.08] FOOTPRINT
HEX 318 [8.08] FOOTPRINT : :
228+.010
Q, [5.7940.25]
P *
318
374
500 [g.50] [8:08] i i
[12.70] T A\ A ﬂ ! = H =
! [ alalh\\eln ™ L = AllA =]

ORDERING CODE:

PART NUMBER: 6 E 1

SERIES !
PCB MTG OPTIONS

7X - XXXSXX - X20X

LPCB LAYOUT CODE
NO DIGIT=STANDARD
.374 [9.50] DIM'N FOR .318 [B.08] F/P

$.040+.002 RECOMMENDED P.C.B LAYOUT, STANDARD A=9.120 [3.05] MTG HOLE WITH 315 [8. OO] DIM'N FOR .590 E14 99] F/P
[#1.02+0.05] WRAP—ARQUND GROUND STRAP, E=.646 [16.41] DIM'N FOR .590 [14.99] F/P

HOLE [2.74] 9 & 15 SIZE .318 [8.08] FOOTPRINT
(9 PLCS) C=BOARDLOCK OPTION, SHELL CHARACTERISTICS

.318 [8.08] FOOTPRINT 20=TIN PLATED RECEPTACLE SHELL
D=9.120 [3.05] MTG HOLE,
.318 [8.08] FOOTPRINT

J=#4—40 THREADED MTG HOLE,

PANEL MOUNTING OPTIONS
0=¢.120" [3.05] THROUGH HOLE

1127[2.84]

.056

W087 [2.76] 25 & 37 SIZE
.054 [1.37] TYP.

374

318
[9.50]

[8.08]

.318 [8.08] FOOTPRINT
U=0.120 [3.05] MTG HOLE,

590 [14.99] FOOTPRINT
Y=BOARDLOCK OPTION,

1=#4—40 THREADED HOLE
2=MOUNTING OPTION 1 WITH #4—40
UNC HEX JACK SOCKETS INSTALLED

[1.42] i 590 [14.99] FOOTPRINT CONTACT PLATING OPTIONS
318 [8.08] FOOTPRINT I NUMBER OF CONTAGTS BF=ENGAGEMENT AREA 3u" [0.08 MICRONS] GOLD FLASH
@2215;%0551 LOCATE HOLES 009, 015 025, 037 CF=ENGAGEMENT AREA 15u" [0.38 MICRONS] GOLD
Lol sﬁw%oi [0.13] AJ=ENGAGEMENT AREA 30u” [0.76 MICRONS] GOLD
(2 pLCS) DIMENSIONS ARE %SLSCKET
BASIC SEE SHEET 2 FOR NOTES & SPECIFICATIONS
DATE
DRAWN A.CHENG APR13/06
p——— Amphenol Canada Corp
CHECKED  K.LAMBIE  |APR13/06 [T g
I. E. APPRD. 6E17 SERIES D—SUB CONNECTOR, 9 TO 37
Q. A. APPRD. SIZE SOCKET, RIGHT ANGLE WITH F/P, MTG
v —— AND PLATING OPTIONS, RoHS COMPLIANT
THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION AND SUCH INFORMATION ENG. REL. NO. OWG | DRAWING NO. REV.
MAY NOT BE DISCLOSED TO OTHERS FOR ANY PURPOSE OR USED FOR MANUFACTURING
PURPOSES WITHOUT WRITTEN PERMISSION FROM AMPHENOL CANADA CORP. R[i;mswom EAAR/E &225[)1 o C| P=BET/X=XXXSXX=X20X | B
INCHES 03554 [seae 27 ur. [sure. [sheer 7 o 2

E F




A B C D E ) F
290 H4.99] FOOTPRINT REV ECN E;EV‘E‘OONS DATE APPRD
<STANDARD PCB LAYOUT) B | PRODUCT DRAWING (EAR 12937) | APR28/06| K.L.
A
c 590 [14.99] FOOTPRINT
5 242 [6.15]

; %

5 [00dbd

}
e

—

I

i Ui

i

.126+.020

( [3.2040.51]

/A 311 .494£.015
‘ @o @// [7.90] [12.55+0.38] -
1 {

|

PCB MTG OPTION Y
BOARDLOCKS,

5390

[14.99] FOOTPRINT

PANEL MTG OPTIONS O OR 1
120 [3.05] DIA. OR #4—40
THROUGH HOLES (2 PLACES),
SEE ORDERING CODE.

#4-40 UNC

PANEL MTG OPTION 2

THREADED HEX

JACK SOCKET

187 [4.75]
HEX

I

(2 INSTALLED)

—

(PCB LAYOUT CODE FE)

HHH

PCB MTG OPTION U
8.120 [3.05] MTG HOLE,
590 [14.99] FOOTPRINT
FOR PCB LAYOUT CODE E

( W 228+.010 T
5 &; [579{025}
315
T [
U i I m
: : ! N N
[19.43] i
Hﬂﬁ HHH HHH
PCB_MTG OPTION U PCB_MTG OPTION Y
$.120 [3.05] MTG HOLE, BOARDLOCKS, .590
590 [14.99] FOOTPRINT [14.99] FOOTPRINT
FOR PCB LAYOUT CODE E
RECOMMENDED P.C.B LAYOUT, STANDARD
@ o4o+ 002
1.02+0.05] 108 [2.74] 9 & 15 SIZE
HOLE 1087 [2.76] 25 & 37 SIZE $.040+.002 RECOMMENDED P.C.B LAYOUT, CODE E
(o PLCS) 054 [1.37] TYP. E—— [#1.02:£0.05] 108 [2.74] 9 & 15 SIZE
2.125+.002 HOLE
SIZE | A+.015 | B£.005 | C+.005 | D BSC. f Tato.05] (o oL6s) 1087 [276] 25 & 37 SIZE
[0.38] | [0.13] [0.13] B0,
e [2 84] 009 | 1.213 | .643 .984 432 (2 PLCS) 054 [1.37] TYP.
3 T LOCATE HOLES [30.81] | [16.33] | [24.99] | [10.97]
$[$.005 [0.13] T
590 SWON 015 | 1.541 971 1.312 756 12 [284]
3.125+.002 [14.99] DIMENSIONS ARE [39.14] | [24.66] | [33.32] | [19.20]
[63.1840.05] 315 BASIC
HOLE (8.00] i} 025 | 2.088 | 1.511 1.852 1.304 056
(2 PLCS) [53.04] | [38.38] | [47.04] | [33.12] [1.42] 590 646
580 [14.99] FOOTPRINT I [14.99] [16.40]
037 | 2.729 | 2.159 2.500 1.956
[69.32] | [54.84] | [63.50] | [49.68] LOCATE HOLES l} i
. SPECIFICATIONS: [#[#.005 [0.13]
POSITION 590 [14.99] FOOTPRINT
MATERIALS: ALL MATERIALS ARE RoHS COMPLIANT E%%S‘ONS ARE
SHELL: STEEL, TIN PLATED ELECTRICAL DATA:
INSERTS: HIGH TEMPERATURE RESISTANT NYLON, GLASS CURRENT RATING: 5 AMP SEE SHEET 1 FOR ORDERING CODE
REINFORCED, UL FLAMMABILITY RATING -
94V—0, COLOUR: BLACK CONTACT RESISTANCE: 15 MILLIOHMS MAX. DRAWN A.CHENG  |APR13/06
s Amphenol Canada Corp
4 CONTACTS: COPPER ALLOY, GOLD PLATING (SEE ORDERING CODE) OVER INSULATION RESISTANCE: 3000 MEGOHMS MIN.
50u” [1.27 MICRONS] NICKEL ON ENGAGEMENT AREA WITH CHECKED  K.LAMBIE  |APR13/06 [TiTiE
100u” [2.54 MICRONS] MIN. MATTE TIN ON CONTACT DIELECTRIC I E. APPRD. 6E17 SERIES D—SUB CONNECTOR, 9 TO 37
TERMINALS. WITHSTANDING VOLTAGE: 1000 VAC rms Q. A APPRD. SIZE SOCKET, RIGHT ANGLE WITH F/P, MTG
BOARDLOCK: COPPER ALLOY, TIN PLATED OPERATING TEMPERATURE: _55°C TO +105°C DWG. APPRD. AND PLATING OPTIONS, RoHS COMPLIANT
ENG. REL. NO. DWG DRAWING NO. REV.
REF. EAR 12937 _ _ _
THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION AND SUCH INFORMATION MAY NOT BE DISCLOSED TO OTHERS FOR DIMENSIONS ARE TN CODE 15, 10 C| P=6ET/X—XXXSXX—X20X | B
ANY PURPOSE OR USED FOR MANUFACTURING PURPOSES WITHOUT WRITTEN PERMISSION FROM AMPHENOL CANADA CORP. INCHES 03554 [scae 2/7 Jur. [surr. [sieer 2 o 2

A B

C

E F




@Iasﬂ U

KomnaHus ((3J'IeKTpO|_|J'|aCT» npeanaraeT 3akKn4vyeHmne onrocpoYHbIX OTHOLLIEHUN npu
NOoCTaBKaxX MMMNOPTHbIX 3NTEKTPOHHbIX KOMMOHEHTOB Ha B3aMMOBbLIFO4HbIX yCJ'IOBI/lFlX!

Hawwn npeumyuiectsa:

e OnepaTuBHbIE NOCTABKM LUMPOKOrO CMeKTpa 3NeKTPOHHbIX KOMMNOHEHTOB OTEYECTBEHHOIO U
MMMOPTHOrO NPON3BOACTBA HANPAMYO OT MPOM3BOAMTENEN U C KPYNMHENLLNX MUPOBbLIX
CKNaaos.;

MocTaBka 6onee 17-TM MUNIIMOHOB HAMMEHOBAHWUIN 3NEKTPOHHbLIX KOMMNOHEHTOB;

MocTaBka CNoXHbIX, AeULNTHBIX, MMOO CHATLIX C MPOM3BOACTBA NO3ULIUIA;

OnepaTtunBHbIE CPOKM NOCTABKM Nof 3aka3 (0T 5 pabounx gHewn);

OKcnpecc goctaska B Nnobyto Touky Poccuu;

TexHnyeckas nogaepkka npoekTa, NomMoLLlb B nogdope aHanoros, NocTaBka NPOTOTUMOB;

Cuctema MeHeXMeHTa KavyecTBa cepTuduumnposaHa no MexayHapogHomy ctaHgapTty 1ISO

9001;

o JlnueHausa ®CH Ha ocyulecTBneHne paboT ¢ NCNONb30BaHWEM CBEOEHUIN, COCTABAOLLINX
rocygapCTBEHHYIO TalHy;

o [locTaBka cneumnanmampoBaHHbIX KOMNoHeHToB (Xilinx, Altera, Analog Devices, Intersil,
Interpoint, Microsemi, Aeroflex, Peregrine, Syfer, Eurofarad, Texas Instrument, Miteq,
Cobham, E2V, MA-COM, Hittite, Mini-Circuits,General Dynamics v gp.);

MoMMMO 3TOro, O4HMM M3 HanpaBnNeHU koMnaHum «AnekTpollnacT» ABNseTca HanpaBneHne

«UcTouHmkn nutaHua». Mel npeanaraem Bam nomoub KoHCTpyKTOpCKOro otaena:

e [logGop onTuManeHOro peleHus, TexHn4eckoe 060CHOBaHME Npu BbIOOpPE KOMMOHEHTA;
Monbop aHanoros.;
KoHcynbTaumm no NpUMEHEHMIO KOMMOHEHTA;
MocTaBka 06pa3yoB M NPOTOTUMNOB;
TexHn4veckasn noaaepka npoekTa;
3awmTa OT CHATMSA KOMMOHEHTA C NPON3BOACTBA.

Kak c Hamu cBfizaTbCcA

TenedoH: 8 (812) 309 58 32 (MHOrokaHanbHbIN)
Pakc: 8 (812) 320-02-42

OnekTpoHHas nouTta: org@eplastl.ru

Aapec: 198099, r. Cankt-INeTepbypr, yn. KannHuHa,
Oom 2, kopnyc 4, nutepa A.



mailto:org@eplast1.ru

